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— 5T912 YUK INIPR IO
A decree on a partial discharge on account of the whole

Overview

X" taught that if a woman expelled a X5 nxpn she becomes (Po0n) RN
immediately. The reason is because 771 X?2 X°72w ngpn 1X. The X) asked
that we know this (that 21 n¥p»n 1°X) from a 71w»n which teaches us that if a
cow expels a X5w ngpn the remaining ROV is not X7 NYNW2 TN
([seemingly] because "21 nxpn 1PX). The X mi refutes this; the 7I1wn may
maintain 771 X?2 X°50 n¥pn v (and really the remaining X% should be
amn), and the reason the remaining X°9w is 72°282 770K is on account of
7210 WK IngpPn 7701, that if we will permit it to be eaten when it was nn¥>
TN¥Pn, we may come to permit it to be eaten when it is 7212 7n¥°. Our NMdOIN
will discuss what exactly the concern is, and why this concern does not
apply by an 7wR, only by a nn72.

The rule is that anything which is expelled from the cow (while it is alive)
[which may contain a (partial) 721] is '75°9X2 770K (unless it can be vrw),
even if it reenters the cows womb and was there oxn vRIwWIw2.

MooIN comments on the $'RM3 expression 7219 WK IN¥PA 1"
— N9 NNY MYLY DN TINT XPITIND

It is not precise to say that the 77°1x was 7710 YR Ingpn, that we are
concerned that even if the entire X°%w is expelled it would mistakenly be

thought to be 177°5%2 7nn; for how could we mistakenly permit the entire
X°9W to be eaten?!

mooIn explains why it is not a reasonable 7771
— NIPIINTI NONX NYPA NNYPN NNOND QY

For even by a partial discharge, the part of the x°>v which was expelled

is *RNIRTA MMLN to be eaten, so how can we say that if the entire X°5w is expelled that
we may think that it is °nm.

"'We derive this from the 109 of 1928N X7 77970 77W3A W2, that any w32 that was WNX°MA? Y7 XY is 70K,

? This explanation is based on the X"2w"7 "n.

? If we maintain T X2 X*9W N¥pn TX it is MOX because there is a 791 (N¥pn) X7 in this X9 N¥pn, and even
if we maintain 791 R%2 R°5W n¥pn W it is Poon MO for perhaps there is a (partial) 791 in this X*5w nxpn.
[Others maintain that even a ®°>W itself, without a 791, is considered an 12X, and is X¥1°2 7I0K.]
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mooIN anticipates a possible explanation and rejects it*. The 713 X N¥PR 77°T) may be
understood as follows. If we would permit the X°>¥ that remains inside to be eaten when
n¥pn nng, we will mistakenly assume that since this X°2w (which is inside) is permitted to
be eaten (X7 NV NWY1), it should also be permitted to be eaten when it is entirely expelled
before oxi nunw. This might be the 77°13. However, Nno01n rejects this interpretation. If
that would be the wwn, then the 77°13 should have been worded differently. The X713
should have said, we cannot eat the inside X°?% on account that we may come to eat an
expelled X°%w on the outside!

— NINAY NN IVN DDIY NN N1 1399IRP NI
However the X713 did not state that there is a decree on what is inside the
cow (to prohibit it from being eaten) on account that it may be confused

with what is outside the cow! This proves that there is no such concern; for we know
that whatever is expelled from the cow before the v nw is X077 MOKR. The question
remains why should we confuse 7715 (on the outside) with 1nxp» (on the outside, and
forbid whatever is inside even o7 DY HWY2)

mooIn has an additional difficulty with 7913 YoX anxpn:
— MY 99 NYNA NDID VN 1997 IN NI

And furthermore if we are 213 by a 791> YK 7n¥PH 173, then we should

also be 213 by an 7210 WK 7nN¥PN TR’ Why is it that we are 7713 YR 7n¥pP» N3 by
a 2 (even though it seems illogical®) and we are not 713 X ANXPH M3 by an AWK as
well.

mooIn offers his interpretation:
— 19%9NP N2 YONRT MY W KON

We will rather say that 795 X means 7217 WX (on account of the

majority); nooin explains -
— NNN2 YN DI DIYN DDAV NN NYPN NNINA NYIY INY

For if we will permit to eat the part of the 5w which remains inside the
cow by a partial discharge, because the 770 writes 7223 WK 9

(everything which is in the ;37772 may be eaten) -
— DINPN NN YN N NIY WINY WY 59 Y 9N

* The following is based on the y79 1°27 maoIn. See *"1d for a (slightly) different explanation, that noo1n
anticipates what >"w" states that we are concerned by 7713 XY if the X% will return inside the womb. nooIn
rejects this, for if this is a real concern, then it is not necessary to say 71213 Y& 1nxpn. The 77°T3 can be made
by the case of nnxpn itself. If we will maintain that by a n¥pn nnx°w X°5w, the 0292w X*5w is 0 (on
account of a 0"d), then people will assume that there is no 721 in the X°5w n¥pn that was expelled, this will
cause them to be 7°nn the In¥*w X>2wW n¥pn if it reenters the womb. However this X°2w nxpn is certainly
710X (for there is [at least] a 791 o0 there). The 813 should have referred to this 77°T3 as 72 YR 2°102
1maw. The fact that the X723 does not make any reference to such a 777 proves that we are no concerned
that the X°>w will reenter the womb.

> Therefore, we will have no more proof that 791 X2 X*9w n¥pn 1X. It is possible that 721 822 ®*5w n¥pn w*;
however even if X5 nxpn 7n¥> (where it is a 0"0), nevertheless she is XM, for we a 721 WK INTPA .
There would be no need for the statement of &"9 for we can know this from the 71wn that we are 7nXp»n M2
212 WOK.

% We are concerned that the people will be 2>na without asking; the same should apply by 7wx.
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Even though there is a concern that perhaps the head was expelled in

this partial discharge (in which case the 193w X°5w would be oK), and if we
nevertheless permit it because the 77N writes '72722 WX 93, then -
— NNAYLY ININ 0292V VIV INMN 12)9 NNIN PINNY XA

It may come to pass that even when a majority of the X°5w was expelled,
the minority of the X5 remaining inside will be mistakenly permitted to

be eaten for this very same reason (for we will assume that Y2380 72732 93
overrides any concern that the head [or a majority of the fetus] was expelled in this 217
X°%w, just as we were not concerned that the head may have been expelled in the nxpn
X°%Ww, on account of 717722 WK 3).

— NP0 POV NN NYPNAY YT XD

And people will not know to distinguish between a X2 nxp» where it is a

©'"'® (perhaps no part of the 771 was expelled in the X*5w n¥pn, and even if some part was
expelled, it was only a minority and not the head) and a ¥°>% 217 where there is no "0
(we assume that when X5 217 nnY>, then the 791 217 was expelled). This reasoning
applies only by a 712 -

— VY FNN NYT 9NY 7Y KD AUN ) YaN

However by a woman (if we were to assume that 791 X72 X°5w nxpn v°) it is
not appropriate to make a decree (that even if a 5w n¥pn was expelled,
she should become nXnY even though it is a 0"0, on account that if we will
consider here 7M7Y by a X%w nxpn, we will also mistakenly consider her
7770 even by a X°9w 211 [where there is no 0"0], this is not valid) for it will

not come to such a mistake -
— NYPNY 299 MNVYAY IV NN RNPYV NIYT

For there is no reason why they should be confused and compare a

majority to a minority by a woman expelling a X°5w; people will understand that by
X°9Ww 211 7Y it is considered a 77°% and the woman is nXnY -
— N¥P NIV T 99 11999 19N OIYY £2393Y NV MY WL’ 11NHaa YaN

However by a cow they will me confused and say that (even though the
Xow 211 was discharged, and that may be considered a 77°%, nevertheless)
whatever is inside the cow is never considered ‘born’ as long as it did

not exit the cow. Therefore they will mistakenly assume that even if X°>w 217 Any,
nevertheless, whatever X°9W remains inside the cow is always aN7 nuwnwa anmn [on
account of 190Kn 122 93], regardless if X¥9W N¥pn 7N¥ or XYW 211 AnY° (since that n¥pn
which remains is not considered ‘born’, but rather part of the [mother] cow).

mooIn offers another reason why there is no 7115 1R AN¥PR 77°13 by an TWK:
— NN NDIP 277 SNNT NININT PYUNI DI $1919Y 1391 XY NYNI 93 ON

Or you may also say, that by an @R (if 791 872 X°2w n¥pn w° and 177 p°vn
she is WX 12 770V, then) we would not be 9113 that she should count
the Xm0 *»° from day one, for it is a X727 that can develop into a X>p -

7 This overrides any concern that there may have been a birth wx 7 nX°%2.
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— NPV 2135 NY 211D 73 DI 119> XD NNDTY
For perhaps (if she is required to consider day one as X0 01°) they will

not count her 7821 %% from day two (but only from day one) and will consider
day fifteen as 7mv *»°, when in reality it is still part of he XY 2 since on day one she
was nXnv only (Xp50) poon.

mooin offers a third reason why there is no 77°72 by an AwWX:
— (X397 8232 19999NTI 1PWN NI ANNIV SWIONT 13991) XD NYNI 1) ON

Or you may also say that by a woman we are not "1 that she should be
Xnv from day one (and the M17Y she touches after the discharge become Xnv

Po0n) for we do not wish to increase N2 as the X n) states in %52 noon.
Therefore if 177 9°v71 she is 770 we will not be M3 that she should become X»nv and
cause NNY to become X1 (only) on account of a wwn of a mistake that some may make.
However by a nnna where we are discussing 79°28 M0°X, there we can be X 7nXPH M
a1217.

mooin is dissatisfied with this last answer: .
— 1YY NIDIND RONR ANMIV 12399 299K NDYT 19V 999D 1)

However we have previously explained that (when we say that the WX is
[Poon] nRMY from day one) it is not concerning the laws of 82 (that if she
touches M1v they become &nv) but rather she is XY in regards that she is

forbidden to her husband (a n75v is nxnv as a 7771). Concerning a forbidden
relationship with her husband, that is not considered X *w1dX and we would make a
771, Therefore according to mdo1n we will need to assume the first two answers.

mooIN cites s™"w differentiation between a 7172 and an TWR:
—VNIY YNN NYT 9NY 7Y KD NYNIAT DI0NPN Y9

And >'"w9 explained that by a woman the 579572 is not applicable, for no

one will become confused (and assume that even if the entire X’>w was expelled she
1S not 7IRMY)-
— 1Y NHVN %Y NTD 29107 NNT )T

For since they see that when she ‘births’ on day two we do consider her
7INRY, therefore we can not ever make the mistake that by 7915 XY she is 7770,

mooIn has a difficulty with s""w" interpretation:
$NDID NPOIT DIV 299N IV ND JINRNDVNT IINT XAT YD)

And there is a difficulty! For that which we see that she is 78»% on day
two we will assume that she is 7X»0 only because the entire X°5w was

expelled; however we may still mistakenly assume that when ®°7w 217 1n¥°, she will be
717w, The question still remains let us be 77217 10X ANEPR 3!

Summary

8 N7 7" X"V
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[The X"77 of the X723 was] that by a 7272 even if we assume that nxpn w»
771 X972 XOw, nevertheless if 7n¥pn n¥° the remaining X950 is 72°9X2 770K
on account of a 7713, that we will permit the remaining X% to be eaten even
if 7217 7nY>. However by an 7wk if 791 X922 X°5w n¥pn w° we would not be 213
7712 10X In¥Pn, either because no one will confuse 217 with Y17, or because
it is a X2 >7°% "NRT X1,

Thinking it over
1. Is it appropriate to be M3 by n¥pn on account of 217; or do people readily
distinguish between 217 and n¥pn?

2. According to m»doIN that the 7wn is if we will be 2192w 7377 7°nn when nxpn
XOW is expelled, we may be 2292w 1n 7°nn even if 5w 211 7n¥°; then why
are we not M on 0°192w 11 (by a viable 721) if IR 72X R¥°, on account that
we may come to be 0192w 712 1°nn if a 791 211 was X¥?

? See n"m.
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